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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 FSERT R6.4.15 [FEARLLV=T(EH#h) BRHEE9(<3.3) 8.36 8.4
2 wmET R6.4.15 Hhol (g BRHEE9(<3.7) BRHEE9(<5.3) - Janpcac N
3 wmET R6.4.15 Hhol (g BREEI(<1T) BRHEE9(<6.0) - Janpcc
4 wmET R6.4.15 Hhol (g BREE9(<48) BREE9(<44) - Janpcc N
5 N /NG R6.4.15 Hhol (g BREE9(<54) BREEI(<47) - Janpcac N
6 FEH R6.4.15 HoU G BREE9(<54) BRHEET(<47) BRHEY
7 FEH R6.4.15 HoU G BRHEE9(<3.9) BRHEET(L3.1) BRHEY
8 FEH R6.4.15 HoU G BREE9(<42) 6.05 6.1
9 FEH R6.4.15 HoU G BRHEE9(<5.8) 5.97 6.0
10 FETH R6.4.15 HhoU (i) BRHEET(<47) BRHEEY(L37) BREEY
11 FEmH R6.4.15 HhoU (i) BHEEY(L50) BRHEET(<47) BREEY
12 L R6.4.15 HoU (BF4E) BHET(<43) BRHEET(<45) BREEY
13 = )IET R6.4.15 HoU (BF4E) BHEEY(L37) BHEEY(<3.0) BREEY
14 TS EET R6.4.12 SE (F4) BRHEET(<44) BRHEI(<45) BREET
15 y={:ii) R6.4.13 =508 (B ) BRHET(<5.4) 27.9 28
16 L EH R6.4.14 (EFTO(CTH) (B4) BRHE9(<95) BRHEE9(<7.8) BREEY




BRERER

No b1 R A APlniESE i 1-134 t 9 L-137 EEE

Ba. kg Ba. kg Bqg. kg
17 £ LAT R6.4.15 (EFTO(CTH) (B4) BRHEE9(<6.1) BRHEE9(<4.9) BREEY
18 iy ={:1) R6.4.14 =D (B4) BRHET(<4.1) BRHET(<31) - g
19 I ET R6.4.15 =10 (Bp4) BREE9(<4.2) 11.9 12
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